10.

Math 1400
Homework 3
Due Feb 09

. Problem No. 39 from Text book Page 584.

. Problem No. 40 from Text book Page 584.

Problem No. 59 parts (a) and (b) from Text book Page 585.

Problem No. 60 parts (a) and (b) from Text book Page 585.

For problems 5, 6 and 7 use Power Rule.

(a) f(z) =3z — o +1

(b) Fla) = vE+ 95 — V3

() fla) =2+ 4 — 2

@@=+

(b) f(z) =273 —3:U§+3:1+xl4

(¢) f(z) = 3z5_4$4+23:6:2—5:v2—8z+4

(a) f(z) = (va - L)

(b) f() = (Vi + V)

(c) f(a) = V1lz

Use Product Rule for the following problems:

= (42 — 1)(325 + 2)

(a) f(z)

(b) f(z) = (Vx — 5z* + 4)(42* + 11z — 5)
(0) Fx) = (n + 2)(322 — 1)

(a) f(z) = 627*(62 + 102* — 8x + 3)

(b) f(z) = (5v& = 7)(2® — 22— 11)

(c) f(z) = (v —2)?

Use Product Rule for the following problems:
(x) = (2% — 223 — 7)(32* — 5z)
(z) = (5% — 2%)(z — })
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